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QUESTION 1

You are startng to review some of the incident reports that have been submited as a result of test executon. 

Which THREE of the comments would be your main fndings when you have reviewed the following incident report? [K4]
3 credits, 2 out of 3 correct 1 credit 

A. Should have been two defect reports 

B. Ambiguous descripton 

C. Both severity and priority do not make sense 

D. Actual cause is missing 

E. Reproducibility is not indicated 

F. Defect type is missing 

G. Date to be fxed not defned 

Correct Answer: ABE 

 

QUESTION 2

What is the MOST important reason why test conditons should be understandable by stakeholders? [K2] 1 credit 

A. They should be able to review the test conditons and provide feedback to the test analyst 

B. They should be able to use them as a basis for designing test cases 

C. They should be able to use them to establish traceability to requirements 

D. Test documentaton should always be understandable by all stakeholders 

Correct Answer: A 
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QUESTION 3

Tax system A tax system needs to be updated due to new legislaton. For a person with a salary of less than 

20.000 and who is married, the tax needs to be re-calculated. If the person also has more than two and less than fve
children, an additonal 10% reducton is applicable. How many input classes can be distnguished when applying
equivalence parttoning to the "Tax System" specifcaton? [K3] 2 credits 

A. 5 

B. 6 

C. 7 

D. 8 

Correct Answer: B 

 

QUESTION 4

Which of the following comments would be the MOST important one you would make? [K3] 2 credits 

A. Descripton of fow is not detailed enough 

B. Specifc characteristcs of actor(s) are missing 

C. No usability acceptance criteria 

D. User tasks not defned 

Correct Answer: B 

 

QUESTION 5

Which of the following tasks and responsibilites do NOT belong to that of a test analyst in the context of evaluatng exit
criteria and reportng? [K2] 1 credit 

A. The test analyst should be able to use the reportng tools 

B. The test analyst is responsible for supplying accurate informaton 

C. The test analyst will contribute to the fnal report at the end of the testng 

D. The test analyst should write fnal test reports objectvely 

Correct Answer: D 
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